MEHIO 38 S5 AOX

R 1-4 Knacc
| \06ed -
1 87 '_F-_\ repbpoa ¢ konbacoil 30/20 5,51 5,30 14,99 131,00
: K 24 |Cym kaprodensnstii ¢ MACOM 250/15 7,20 5,44 20,00 161,00
- %I’a-,.-ﬁ;-; IPHAYIHEHHAS 100 17,12 8,24 0,92 146,00
;— -‘Ii"n'c OTBAPHOMH 150 3,65 5,37 36,68 209,70
| 5] 382 [Kaxao ¢ monokom 200 4,08 3,54 17,58 118,60
6 et nwewwnntii ook gehgpen | 30 237 0,30 14,49 70,50
T Xucopmanon _/ DO 30 2,60 1,00 12,80 | 7170
____‘____' Hroro: i 825 42,53 29,19 117,46 914,50
- 1-4 knacc OB3
|
30020 551 5,30 14,99 131,00
200/10 8,64 11,06 4432 312,00
/¢ Yak ¢ caxapom 200/15 0,07 0,02 15 . 60
iX.ﬁeﬁ HECHWUHBIH 30 2,37 0,30 14,49 70,50
| |Obes '
1 71 |Osoiy HATYDPaIbHBIC CBEKHE 50 0,40 0,05 0,85 ‘:5,00
. 124 \f KapiodenpHsl ¢ MACOM 250/15 7,20 5,44 20,00 161,00
| 3227 [Puiba npunymennas 100 17,12 8,24 0,92 146,00
| 4} 304 |Puc oTaapHo# 150 3,65 5,37 36,68 209,70
| 5382 'KaKa0 ¢ MOTOKOM 200 4,08 3,54 17,58 118,60
[ Xueb nwewrsill /L0 J Ll 42 30 2,37 0,30 14,49 70,50
e pranoll  Jui OLCRD 30 2,60 1,00 . 12,80 71,70
- Liroro: ' 1330 54,01 - 40,62 192,12 | 1362,00

C-oCTanma Yeaposa T.C. /%4_




Y1sepxaaio
MEHIO 3a
- 5-11 xnacc /{j ///%%/
B ] | E_;smpox
I tj__ ___'_"“'rl ¢ KoNGacoi 30/20 5,51 5,30 14,99 131,00
;b,_ﬁ:,,u._t f xapTodeasHeli ¢ MACOM 250/15 7,20 5,44 20,00 161,00
| 3] 382 [Kaxao ¢ mosiokow 200 4,08 3,54 17,58 | 118,60
: 41 | X206 runeHus BRI 30 2,37 0,30 14,49 70,50
L5 [Xaed pranot / L Dpond 30 2,60 1,00 12,80 77,70
R ' 575 21,76 15,58 79,86 | 558,80
- o 5-11 knacc OB3
| i3gempax
b 87 |Byrepipoa ¢ xonbacol 30/20 5,51 5,30 14,99 131,00
~ ,!'-;:ll‘.ii'i BASKAR MONOYHan MoeHHyHas C 200/10 8,64 11,06 44’32 312’00
N i 200/15 0,07 0,02 15 60
R 30 2,37 0,30 14,49 70,50
L 50 0,40 0,05 0,85 5,00
2 124 [Cym 250/15 7,20 5,44 20,00 | 161,00
}| 227 |Peiba npunyiePHAR 100 17,12 8,24 0,92 146,00
f_.r_'l s oTEapHON 200 4,87 7,16 49,17 279,60
3 Kaka0 ¢ MOHOKOM 200 4,08 3,54 17,58 118,60
. | X5e0 nmeHyHbi 30 2,37 0,30 14,49 70,50
Soieo pranioll /b OprOk? 30 2,60 1,00 12,80 77,70
1380 55,23 42.41 204,61 1431,90
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